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1. What i 289 116 943 in words? (1 mark)

2, venthata=3 b=landc=2. What s

a— b in its simpliest form. (2 marks)

¥ In the diagram below, find the value of angles x and y.

3 marks)
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4. The length of a rectangle is (3x +1) em. Its width is 3 cm shorter than Its length. Given that
the perimeter of the rectangle is 22 em. What is its [ength? (3 marks}

5. Betty earns a basic salary of sh.8450 per month. She is paid 2 commission of 4% on sales
above sh.10000. In a certain month she eamed 2 total income of sh.[4800. What was her
total sales for that month. {3 marks)

2
6.  Whatis 2(4-35x315+3 (3 marks)
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The diagram below shows a cross section of 2 swimming pool 8 m leng. Find the volume
of water it can contain?

6im

L1

1.om

{3 marks)

Solve3d-x=8x + 12 {2 marks)

Jane bought 5 shirts and 3 shorts paying a total of 1750 shillings, Mary bought three
similar shittd and one short for 850 shillings. Find the cost of each item? (4 marks)




10. The graph below shows the amount of milk in litres sold by a farmer in a week.
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(a} On which day did he sell the hishest amount of milk? {1 mark}

{b) What was the total amount of milk sold during the first five days? {1 mark)

tl.  Oketeh has t bananas and Mwangi has five times as many bananas as Oketch. A haif of all
the bananas is 18. How many bananas does Mwangi have? {3 marks)
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12.  The distarice between school A and B on a map is 3.5 em. If the scale of the map is 1:200000,
what is the actual distance between School A and B in km? {3 marks)

13.  The circle drawn below has centre O and radius 6.5 et QR has a length of 5 cm. What is
the area of the shaded region? {(Correet to 2 decimal places) £4 marks)

!
\
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14,  The exchange rate on 2 particnlar day was 1 U.58 =KSH 64.38. An American tourist visiting
Kenya had 1o convert 750 USS$ to Keaya Shillings for use. How much money in Kenya shilling
did he get. {2 marks}

15. A motorcycle travels for 3 hours 40 minutes at a speed of 60 km/h. What distance does it

cover?
(2 marks)




